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Time for marking Answers of all 100 Questions : 2.00 Hours Maximum Marks : 100

Wt 100 Wi & I sifeq A ¥ oAt ww : 200 WO Fftremm ot : 100
Note
1. This paper consists of Three scctiohs which are as follows :
Section Question No(s) Block Subject Remarks
From To Total
A 01 25 25 General Knowledge - Compulsory
of Madhya Pradesh ’
B 26 .50 25 General Hindi Compulsory
C : 51 100 50 Mahila Swasthyakaryakarta / Candidates should attempt Only
Ayurved / Homoeopathy / Unani| one subject, which is selected
- as in the application form.
Total 0l 100 100

bt

The candidate will have to attempt only 100 questions numbered from 1 to 100 and each question carry 1 mark.
All questions are compulsory. There is no negative marking.

Tally the number of pages alongwith no. of questions printed on cover page of the booklet. Also check that
question booklet contains the questions of all relevant subjects/topics, as required and stated above and no

- repetition or omission of questions is evident. If any discrepancy is found in the Question Booklet the same can

be replaced with another correct Question Booklet.

Before answering the questions please read carefully the instructions printed on the back cover page of the
question booklet and strictly follow them. There is no provision of erasing or changing of the answer marked
in O.M.R. Answer Sheet by any other means, therefore, mark your answers by blackening full bubbles by black
ball-point pen only.

Use of any type of calculator, mobile phone or any other electronic equipment and log table etc. is strictly
prohibited. . '

Candidates to note that their valuation of section-C shall be done as per their option of opted in Application
form and accordingly printed in Test Admit Card.
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Section - A
General Knowledge of ATV W1 AW T
Madhya Pradesh (Q.No. 01 to 25) (‘St. % 01 & 25)
1.  Asbestus is mainly found in VR J&T €U A 9T A R -
(A) Jhabua (A) wgem #
(B) Sarguja (B) @ #
(C) Chhindwada (C) fTomarst #
(D) Seedhi (D) @i #
2. On which river Rajghat dam is TeraTe oty g At w g ?
situated ____ (A) T
(A) Tawa
(B) waar
(B) Betwa
(C) Son © w=
(D) Barna (D) =
3. Jawahar Lal Nehru Police Training HATEIeATet g% gfera ufdteror arerert
Academy is located at ___ gt W fem % -
(A) Ratlam (A) W@Wa™
(B) Bhopal (B) wiarer
(C) Indore (C) =R
(D) Sagar (D) €TR
4. Gajara Raje Medical college is mﬂﬁﬁl‘wmwﬁ%ﬁ
located at ____ ' ' 2 -
(A) Indore (A) 3=R
(B) Bhopal (B) wiarer
(C©) Gwalior (C) TarferR
(D) Jabalpur (D) wEEgR
13/MVPN-1 -3- Set - B
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Jawahar Lal Nehru Agriculture

University is located at ___
(A) ;J abalpur

(B) Ujjain

(C) Reeva

(D) Gwalior

Which of the following district is in
Madhya Pradesh ___

(A) Narsinghpur
(B) Bastar

(C) Durg

(D) Bilaspur

Which state is on the South of
Madhya Pradesh ____

(A) Uttar Pradesh
(B) Rajasthan
(C) Maharashtra
(D) Chhattisgarh

The length in K.Ms, of Madhya
Pradesh from north to south, is ____

AT g6 Hiy favataame wgt
fem? -

(A) wereTqR
(B) I
(© T
(D) TR

fadfdasma R o R A § -
(A) TR

(B) W&
© gzt
(D) Teremagr

neggey & gferor o i § 9w @
g 3 -

(A) W yRw

(B) T

(C) wEmry

(D) wtaTg

Hegyeyr ht 3w | <feor wew Reast
witeTs ® -

(A) 605 kms (A) 605 ﬁﬁ T,

(B) 695 kms (B) 695 f. .

(C) 996 kms (C) 996 f%. .

(D) None of these (D) 3T | &g T
13/MVPN-1 -4- Set-B
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10.

11.

12.

13.

In 6™ century B.C. the two capitals of |
- Avanti were __

(A) Mahishmati and Rajgriha
(B) Mahishmati and Kosal
(C) Mahishmati and Ujjayini
(D) Ujjayini and Kasi

The first Governor of Madhya Pradesh

was

(A) Dr. B. Pattabhi Sitaramayya
(B) H.B.Pataskar |
(C) K.C.Reddy

(D) Satya Narayan Sinha

Thapati dance is mainly performed by
which schedule tribe of MP. _

(A) Korku
(B) Bheel
(C©) Gond
(D) Kol

Which of the following dance is not
a dance of Gond ____

(A) Karma
(B) Bhagoria
(C) Bidari
(D) Madai

Dr. Ambedkar National Social Science
Institute is located at __

(A) Gwalior
(B) Mahu
(C) Jabalpur
(D) Ujjain

10.

11.

12.

13.

ot v §. g, F srafR s g
®r 3 et wE Ot et -

(A) Wity a uswE

(B) wiigwfa a wEe

(C) wifgenfa o SSsoRREY
(D) ISTARHT & HTE!

T TR & YA TSIUTA o —
(A) =t &t uge Wawda
(B) w=r. . UTeER

(©) &. @ &

(D) @ Awror fagt

amudt A= W, u. ki R St @
$ -

(A) *RE

(B) et

(C) its

(D) =i

= 4 @ s =ER T Al w6

e -

(A) T
(B) e
(C) faedt
(D) w=g

BT, srrga TP AT fas
T hgl W a2 7 '
(A) TaTherR

(B) Wg

(C) “EegX

(D) IS

13/MVPN-1 ' -5-
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16.

17.

14.

15.

In which year M.P. Congress
Committee included in its election:
manifesto the demand for creation of:

séparate Chhattisgarh __.
(A) 1993

(B) 1998

(C) 2003

(D) 2008

Which of the following Chief Minister
was not related to Congress Party

(A) P.C.Sethi

(B) Kailash Chandra Joshi
(C) Motilal Vora

(D) Ravi Shankar Shukla

Which Governor died during his
tenure __

(A) Bhai Mahavir

(B) Kumwar Mahmood Ali Khan
(C) Bhagwat Dayal Sharma

(D) Ram Prakash Gupta

- ' Which of the following district is not

in Bhopal division ___
(A) Sehore
(B) Raisen
(C) Harda

* (D) Vidisha

14, Tormad @ w. idw w4 3 oo g

15.

16.

17.

HINUITAS § goreh BUIERTE Ued S Y
AT vrTRret i et -

(A) 1993
(B) 1998
(C) 2003
(D) 2008

f § @ ®R W geawst s |
qrai-aa g or -

(A) dt. @, |t

(B) FHEATYT TG A

(C) W @ |

(D) & viet et

fora TroTaTer Y 39k T % SR
T -

(A) 9§ AgrER

(B) HaX WgHE Al W

(C) wTEm o vt

(D) T SIShTYT AT

e § @ w9 ar Rren Wure demr A
e -

(A) HER

(B) w=Ed

C) &1

D) e

13/MVPN-1 -6-
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18.

19.

20.

21.

I which division Chhattarpur district
lies '

(A) Gwalior

(B) Sagar

(C) Chambal

(D) Ujjain

Which of the following pair is not
correct __

Wild life sanctuary Place
(A) Gandhi Sagar - Mandsor
(B) Sardarpur - Dhar
(C) Karera - Shahdol
(D) Phen - Mandla

Which of the following pair is not
correct __

Palace Place
(A) Gujari Mahal - Gwalior
(B) Baghelin Mahal - Mandla
(C) Jahangir Mahal - Orehha

- (D) Madan Mahal -  Sagar

Which of the following pair is not
correct __

18. Bt Rren fopo dwm & ¥ -
(A) TarTferR
(B) 4@mR
(C) ==
D) =W

19. fm= ® @ &7 w1 3w swe @ -

IR U
(A) wieh gvR - wWedR
(B) WERE - €N
(C) = - VIgster
(D) - vige

20. = ¥ | ®19 |91 g 6 g -
o omEm em
(A) Tt wger - TETiorER

- (B) =afew wgd - dsen
(C) wEriR wger - o

(D) w5 wEge - 9

21, P ddwmaT g emE ® 7
- oitefire wfem wm

Industrial Establishment ﬂg_g A) i ¥ - &
(A) Government - Khamariya )

Ordinance gt

factory (B) W HRS w - TR
(B) Gun carriage - Indore R ot

factory ® © -
(C) Security - Hoshangabad e |

paper mill . (D) =& BifFTIw - Faw
(D) Currency - Dewas .

Printing Press

"13/MVPN-1 -7- Set-B



22,

23.

24.

25.

Which place of Madhya Pradesh has
an Airport ___

(A) Jhabua

(B) Baitul

(C) Khajuraho
(D) Tikamgarh

Which of tﬁe following is not a main
schedule tribe of M.P. __

(A) Damor |

(B) Gond

(C©) Bheel
(D) Kol

Which of the following fort is not in
Madhya Pradesh __

(A) Bandhavgarh
(B) Meharangarh
(C) Asirgarh
(D) Ajaygarh

In which district Rala Mandal wild
life sanctuary is situated?

(A) Rajgarh

22.

23.

24.

25.

AW % e A | o wum W
AR -
(A) wgsm
(B) 3qer

(C) TR
(D) e

o 8 @ @ W . w0 g s

e -

(A) TR
(B) Tits
(C) sfer
(D) =

frer 3w o P, . A @R -
(A) Wz
(B) WguTEg
(C) wierg

(D) g

T HEF AR AARUT frg Rrer

g -

(A) TeTTg
(B) Shivpuri (B) W
(C) Indore ©) =R
D) M -
(D) urena D) tﬁm
13/MVPN-1 -8- Sct-B
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26.

27.

28.

29.

30.

guE -«

am=r =t (0. . 26 |/ 50)

HA-AT T g 8 ?

(A) T % Qg 3 A ght & |
(B) SR @ &% WA & AN T @ 2 |
(C) #% arrer s AT )

(D) wdfga St 7 whi st e gATS |

ﬁw—ma‘m%%f

(A) o Vg & HUZT TR AT R |

(B) 31U &1 FgT Hig AHHR & § |

(C) Ut I W R F AT TS
2 '

(D) @™ - UL & 99 BT 3 ?

‘s’ Rt EitfeRT vise Fhm -
(A) 3rTeft
(B) srrfert
(C) 3wt
(D) el

‘TrgrAT’ T3 | WiaaTeren T e ST -

(A) wrgran

(B) weTs
(C) =t
(D) et

‘At wHEr vides Sfet @1 A
HAY?

(A) e Agar

(B) hifd HAR T

(C) Teroop womeRt

(D) 2w areTaEt

31.

32.

33.

34.

‘dyrg it uw A IdeER w1 — Hifd
fraht 3 7

(A) qoET FAR

(B) THYR Yot "I

(C) wTEA ol wgaat

(D) o1 Agar

T ST T AEE B 2 7
(A) Fe1ad @ aut

,(B) ErGE R

(C) Tt wag fgadt
(D) I qu=a

Tl 36 T e T OEH BT 7
(A) T g WYy

(B) witew T

(C) s W

(D) et v e

S T IO hyraerE h g ?
(A) Taafoft

(B) e T
(C) forwm e
(D) =& T

13/MVPN-1 -13-
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35.

36.

37.

38.

forer vreg it Tt STyg R ?
(A) arEshiaT

(B) Suwfeyr

(C) argnfuit

(D) ertfifera

T weg oY e g R 2
(A) =g
(B) WoaEs

(C) gzws
(D) iU

%Wﬁaﬁg&*%?
A wghn
(B) wghw

©) gl
(D) wfre

HIA—HT 15 e & ?
(A) ergifrf
(B) =AY
(C) Prmhth
(D) g

39.

40.

41.

42.

(B) @@ arest
(C) @f =1 U
(D) i w93

‘afts’ vreg w1 98 wH et TEE -
(A) =g =

HA—a e “fay o watgari @i g ?

(A) greft
(B) wist
(C) fersyy
(D) |wg

“wort’ w1 et § -
(A) weat

(B) wrER

(C) w=R

(D) @ea

Faty = e 3 -

(A) frg
(B) Ty
(C) gurig
(D) sreurg

13/MVPN-1  -14-
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43.

44.

45s.

46.

TR T 1 wST ok frg g @ -

) T
®) T

O =
(D) qu

‘i ot & & g w1 e’ & ferg
IR § -

(A) wifors
(B) arfia
(C) ot
(D) arfea

‘aﬁtmm’gmﬂimaﬁ%—
(A) ¥ e |

(B) =Sl &% FATE W& W AT
(©) FeuehT TR W e

(D) = @

"¢ § AT o ETAR B 319f @ -
(A) 0 =

(B) Ty g ST

© dwmigm

(D) aﬁqanm

47.

48.

49.

50.

‘sl vt g it e o and & —
(A) IFEE 99 UTH BT |

(B) ud <l TS gl & @ ¥

(C) aier <t wurd .a\zﬁﬁm?ﬁ%
(D) g | HATY U T T g FHT

‘e 1 oft qer e SeRRE e
N ,,

(A) T <hY Treq BT HET g
(B) <hraet &g w1 HEged T qHFAT
(C) =E GeIw =g T Wged T g
(D) Jrer Y WAt % SR TG

‘avarEa § wA-E wte g 7
(A) =9

(B)

©) Tu

(D) srarfe

for vreg & “eranfy’ wfur ? 7
(A) g

(B) g

©) gi

(D) o=

13/MVPN-1 -15-
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51.

S2.

Section,- C
Mahila Swasthyakaryakarta
(Q.No. 51 to 100)

Metabolism of""ca"'rbohydrate 1s 51.
controlled by "

(A) Insulin

(B) Glucose

(C) Glucagon .-
(D) Protein

What is the cause of nght Blindness? | 52.
(A) Deﬁclency of v1tam1n D
(B) Deficiency of vitamin E
(C) Deficiency of Vitamin C

(D) Deficiency of vitamin A

Freedom from infection or | 53,

Qs - | SHE
ufgert TaregwmTdwdl
(w. %. 51 @ 100)
FigTYe W waeE feash g it
gar ?

(A s

(B) vk

(©) g
(D) W

Tetelt T G HROT B ?
(A) frerfim & 6wl
(B) fererftm § v e
(€ Refim @t H ==
(D) Tefm u h =t

>3 s & qitw T e & T
prevention from contact with AT A Vw1 FAT HFATAT T ?
microorganisms is called as
(A) Asepsis (A) st
(B) Antiseptic (B) Idrafes
(C) Autoclaving (C) rarifam
(D) Aspiration (D) feRem

54. In which week placenta formation is "| 54, wuteeen ¥ WA= w1 Faior HHG THE
started in pregnancy? e BT @ 7
(A) 6™ week (A) € GWTE
(B) 8h week (B) 84w
©) 10m week (C) 10 wwrE
(D) 12" week (D) 12 wurg

13/MVPN-1 - 20¢ Set-B



55.

56.

57.

How much energy is produced by
1 gm of fat?

' (A) 4 calories

(B) 9 calories
(C) 6 calories
(D) 5 calories

In sunlight, vitamin D is absorbed in
the body by

(A) Eyes
(B) Heart
(C) Skin
(D) None of the above

Starting of menstrual cycle for the
first time is called as

(A) Menarche
(B) Miscarriage

(C) Menopause
(D) None of the above

35.

56.

57.

s U FaT | et @t yw gt @ 7
(A) 4 Fendt
(B) 9 et
(C) 6 %er
(D) 5 et

ey § Sftafta we - DY stgfd
iR & foredh gr et § 2

(A) =
(B) ¥
(C) v

(D) s @ 7

'wmmmwm@mm

w8 ?

(A) BaTh

(B) frade

(C) WA

(D) IWIw § A &Y T

58. B.C.G. vaccine is given for | 58. B.C.G. w1 T foem T & == &
prevention of which disease? fore wrTraT WA § 7
(A) Tetanus (A) feem
(B) Cholera (B) &=
(C) Polio (C) waifera
(D) Tuberculosis (D) &= T
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§9. Whatis the chemical name of vitamin | 59. et «ft - 12 =1 vty 7m0 L2
. B-127 . 272 | }
(A) Niacin (A) Frfm
(B) Pentothenic acid (B) u=rafier sveer
(C) Folic acid (C) wifers eret
(D) Cyanocobalamin (D) ETIATeR ETATHA
60. 'Islets of Langerhans' cells are found | 60. s(gadie % ehREA HIVTRT el
n g Tt § 7
(A) Liver (A) iR
(B) Spleen (B) wwfr
(C) Pancreas (C) ﬁqﬁmq
(D) Intestines (D) TRETEH
61. How many parts are there in Pelvis? 61. amr Afeaw & fohat W@ 2 9
(A) 2 | A) 2
(B) 3 B) 3
© 4 < 4
® 5 ®) 5
62. Pellagra is seen due to deficiency of | 62. Yewm T fora fererfirm <y et o e
which vitamin? sy
(A) Niacin (A) Franfem
(B) Thiamine (B) arzH=
(C) VitaminD (C) ferefim &
(D) Vitamin C D) Fetm @
13/MVPN-1 T Set-B
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63.

- 64.

65.

66.

Which disease is seen due to

deficiency of Iron?
(A) Rickets

(B) Scurvy

(C) Anaemia

(D) Thyphoid

What is Tachycardia?

(A) Pulse rate more than 60 /min.
(B) Pulse rate more than 80/min.
(C) Pulse rate more than 90/min.

(D) Pulse rate more than 100/min.

What is circumcision?

(A) Urinary Tract Infection

(B) Cutting of foreskin of penis
(C) Congenital abnormality of penis

(D) None of the above

What is the normal weight of an |

Infant?

(A) 3kg
(B) 4kg
(C) 25kg
(D) 2kg

63.

64.

65.

66.

YRR ¥ wiigawa i wHt & HROT AT
[ T ?

(A) Tz
(B) wwat

(C) oFffirm
(D) ZTrawTEs

TR w2 ?

(A) 60/ min ¥ arferes arite
(B) 80 /min® arfers wrdhrfa
(C) 90/ min® arfares wrhrfa
(D) 100/ min ¥ 3rfdres Frdvia

RIS T ?
(A) WIWTT T GHAOT

(B) Torgw Y =t st WHT el
© e w1 T R
(D) IaU+F | ° TE

TawTa Ry w0 aweE wR R g
27

(A) 3kg
B) 4kg
(C) 2.5ke
(D) 2kg

13/MVPN-1
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67.

68.

69.

70.

What is the percentage of plasma in

Blood?

(A) 55%
(B) 45%
(©) 50%
(D) 60%

Which of the following is not found
in Fish and Egg?

(A) Protein

(B) Fat |

(C) Vitamins
(D) Carbohydrate

Which of the following is called as
complete food?

(A) Rice
(B) Milk
(©) Curd
(D) Meat

How many numbers of false ribs are
there?

(A) 4
B) 5
© 6
D) 7

67.

68.

69.

70.

T GTEAT W TSt BT TeRear Wt g
27

(A) 55 ufavm

(B) 45 wfavm

(C) 50 wfevma

(D) 60 ufem

el e 3rve W FetaRaa o | @taan

A TE 9 Ser @ 7
(A) W

(B) =@t

(C) faerfir

(D) whritErgge

Freforfaa & @ wtmar qof s @ ¢
(A) =maer

(B) wu

©) =&

(D) ata

False ribs @Y @&t fehaft et € 2
(A) 4
(E) 5
©) 6
D) 7
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71.

72.

73.

74.

Perception of foetal movements by
mother is known as

(A) Hegar's sign
(B) Palmar's sign
(C) Ballotment
(D) Quickening

What is the most common complaint
seen in.caeserean section babies?

(A) Respiratory distress syndrome

(B) Meconium aspiration syndrome
(C) Congenjtal anomalies

(D) None of the above

For how much period male should use
condoms after vasectomy?

(A) 1 week

(B) 1 month

(C) 3 weeks

(D) 3 months

What is the function of placenta?
(A) Respiration

(B) Nutrition

(C) Excretion

(D) All the above

71.

72.

73.

74.

- ot gre 0 it gt AgEd T w7

wHgerTar g ?

(A) &R dFa
(B) UTewR Hehd
(C) wereliz -
(D) foramfim

& dwraeT arfers Bt ¥ 7
(A) eh fw g
(B) Uemifam Sferym frgim
(C) wTEed MR,

(D) ¥ & =g 7

et 3 e qew ® Fe A
- TRy W g % =niRe ?

(A) w wwTE
(B) ww WA
(C) = wurg
(D) <= ufga

THEET HHTE FTR T
(A) veEa

(B) dywur

(C) Swastw

(D) IwReh At
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75. How much water content is seen 78,
normally in Bones? (A) 20-25%
(A) 20-25 % (B) 30-35%
(B) 30-35 % 7
(D) 40-60 % D) 40-60%
76. Which of the following is Natural | 7. arepfer iR Ut § -
Contraceptive? (A) — & iRt
(A) Mala - D pills )
(B) Condom ®) frw
(C) Breast feeding (©) wTa=
(D) Copper-T (D) w - &
77. Tuberculosis is which type of | 77. s fFm ywR &wT AR ?
disease? .
(A) F 1 @)
unga
(B) Bacterial (B) wwfEm
(C) Viral (C) T
(D) Protozoal (D) werense
78. The channels which transport pure | 78, W B Yg T o STaTeRt arfetett
blood from Heart are called as T HE AR ?
(A) Lymph channel '( A) el
(B) Artery (B) et
(D) None of the above (D) =0 & &
79. Which of the following is not seenin | 79, VYgnR wRITaT ¥ g Wha TET T —
APGAR score? N
(A) Weight of the baby . ; '
(B) Toning of muscles (B) wreafert St 2t
(C) Pulserate (C) gg=Tla
(D) Respiration (D) voeT
13/MVPN-1 -26- Set-B



80.

81.

82.

83.

84.

Which one is not the complication of

- JUCD (Intra Uterine Contraceptive

Device)?

(A) Excessive Bleeding
(B) Infertility

(C) Tubal Pregnancy
(D) Leucorrhoea

Head, Neck and Tail are the parts of

(A) Ovum
(B) Ovum after ovulation

(C) Spermatozoa
(D) None of the above

Which type of protein is found in
urine in preeclampsia?

(A) Albumin

(B) Globulin

(C) Prothrombin

(D) All the above

Which of the following is not a
mechanical (Barrier) contraceptive
measure?

(A) Condom

(B) Intrauterine device
(C) Contraceptive pill
(D) Diaphragm

Which vitamin is necessary in the
process of Bloodclotting?

(A) VitaminB -1
(B) Vitamin K
(C) VitaminB -6
(D) Vitamin D

80.

81.

82.

83.

84.

Freafafaa ® /& st ITUCD #t Suga

e ?

(A) af wra™
(B) dweaed
(C) =ga e STt
(D) vaauR

Head, Neck 2R Tail foreaes wmr 3 7
(A) Fra ¥ |
(B) ffRm ¥

©) THFqSH

(D) 3 & TF

sHuarafimar § g § e wen s
MY ? ‘

(A) TeERw

(B) Tengfer

(C) wrafam

(D) Iueh Gt

Freaforftaa § @ s aifiew mitRus
I AN R 7.

(A) wUEH v

(B) sgrgens feama

(C) wuifRieaes meh

(D) sEww -

Wh W AW G99 k) gfear ° s

fefm eard 7
(A) Refm et -1
(B) freafim &
(C) Fretfim «ft - 6
(D) frafs &
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85. Which is the biggest organ of the | 85.. YRR T WaR ¥ST T w1 7 ?
bzdy; (A) T |
eart
EB; Abdomen (B) e
(C) Liver (© =R
(D) Skin (D) o=
86. What is the dose of Oral Polio | 86. OPV (Oral Polio Vaccinc) st e ht
Vaccine? T fohat gt & 2
(A) 0.5ml (A) 0.5 foet.
B) 0.05ml (B) 0.05 fireht.
(C) 0.01 ml (C) 0.01 et
(D) 0.1ml (D) 0.1 foret,
87. Body temperature is after | 87. srogient (Ovulation) & wwa U=
the time of Ovulation. YRR T aTaH= gar g |
(A) Increased (A) <=mE|T
(B) Decreased (B) &w
(C) Not changed (©) srafafia
(D) Uncertain (D) fafvam =t
88. The woman who is pregnant for the | 88. wugelt IR MWardl &t wgewTdt § -
first time is called as (A) wferam
(A) Multipara
(B) Nullipara B) R
(C) Multigravida © ==
(D) Primigravida (D) sesfrafaet
13/MVPN-1 -28- Set-B



89. Which is the major cause of bleeding | 89. w&a & ud €t s I TE HRUT %
before delivery? '

(A) Eclampsia (A) @
(B) Pre - eclampsia (B) viwarrateET
(C) Detachment of placenta (C) e T AHAYE AT BT
beforetime '
| (D) T A iy T

(D) None of the above

90. What is the dose of Glucose in | 9y, 3ﬁ R, T, T TegeRiet ohY A B -

OR.S.?

(A) 20 9™
(A) 20gm
B) 30 gm B) 30um™m
(C) 40 gm (€) 403
(D) 50 gm v (D) 50um™m

91. How many bones are there in Human 91. WA ¥ wWiudt § e ﬁﬁﬁﬁ efeat

(A) 22 (A) 22
(B) 30 | (B) 30
© 18 ©) 18

D) 7 D) 7

92. Which one of the following is not | 92, Fr=ferRas & @ ®¥@T 'SR’ ® & 3vran

included in 'SR'? 297

(A) Right Patient (A) wse UvE
(B) Right Drug B) s 3
© R%ght Places ©) TEe W
(D) Right Dose D) ez o
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93.

4.

95.

96.

Sand bags are used to

(A) Steady any part of body

(B) Create motion in any part of
body ’

(C) Keep any body part in motion

(D) None of the above

What do we understand by 'Code of
Nursing'?

(A) What does the Nurse do

(B)' How the services related to
Nursing are given
(C) Nursing is given to whom

(D) All the above

What is the ratio of staff nurse to
patient in Intensive care unit?

A) 1:1
B) 1:2
e 2:1
D) 3:1

Reproductive -and child Health
programme was launched in India in
the year of

93.

9.

9s.

96.

dg S W g foee fore femam S

272

(A) R & fordt v = forR @ &

- few

(B) YR % fet amr & gore sww
wA & oo '

(C) iR =t faefier =T T

(D) IWIw H A wIE @

'Code of Nursing' & g# foret &R # wan
aear g ? |

(A) T T o

(B) Rin A gt Famd &4 A et 3
C) RITfRR AT @2

(D) voirE Wt

stfiqerar fawmr § ww € qer WwH
T AT T greT 2 ?

(A 1:1
B) 1:2
< 2:1
D) 3:1

WRA ¥ TAF AT 1T TaTeed HhiAshA
T H TRH gAT ?

(A) 1992 (A) 1992
(B) 1995 (B) 1995
(C) 1997 (©) 1997
(D) 1990 (D) 1990
13/MVPN-1 ~Set-B

-30-



97.

98.

99.

100.

Maternal and Child Death Rate can be
decreased by

(A) Education
(B) Family planning
(C) Human Development

(D) None of the above

How many excessive calories are
required in a Breast feeding mother?

(A) 300 k.cal
(B) 500 k.cal
(C) 800 k.cal
(D) 1000 k.cal

If one child is suffering from loose
motions with vomiting, what does it
indicate?

(A) Diarrhoea
(B) Dysentry

(C) Cholera

(D) All the above

In which liquid, BCG is dissolved?
(A) Distilled water
(B) Normal saline

(C©) Glucose water

(D) All the above

97.

98.

99.

100.

g o oy ey R AT ok g
ToraT < weRaT B ?

(A) forem & g

(B) ufaw fram ¥ g
(C) wma T & grr
(D) 378 & w3 &

I SRR arel Arar @ feheA
Srfficen dherliey 1 erayachat gt ¥ ?

(A) 300 f. derlisy
(B) 500 f. derlisy
(C) 800 . dherfist
(D) 1000 T3, sherdtsy

foreft =t st g% o Ty 3T BT T
qfera war g ? :
(A) srafwan afwr

(B) warfgent

© fasgferm (Fm)

(D) I ot

BCG =t forw et o gierm @it @ 7
(A) fefem ae=
(B) W& wensA

© T?ﬂﬂﬁ'ﬁ‘én'a
(D) I |t
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Section - C
Ayurved -
(Q.No.51t0100)

@ us - |

LG
(7. %®. 51 | 100)

51. Diagnosis of early pregnancy should | 51. wewm stazer # nivjeft &1 fem Fask
be done by TR HET AR 7P
(A) History of amenorrhoea (A) srTeE w1 ghe™
(B) Pelvic Exarhination (B) sffor wleror
(C) Urine pregnancy test (C) woteaeen Frarns T wew
(D) All the above (D) IWIeE aet :
52.’ How the disease of AIDS is | 52, USH HT FelTd A gar R 7
transmitted?
(A) Sexual intefcourse v(A) Rl
(B) Contaminated néedles (B) @H e & Hoh ¥
(C) Contaminated water - (©) g urft &
(D) A and B above (D) IW® A 3R B
53. In ‘Himakalpana"‘ the ratio of drug | 53. ‘fw’ weaqr # goa iR ot &1 erguTE
' and water should be - FTRETY ?
(A) 1:4 (A) 1:4
B) 1:6 B) 1:6
(C 1:8 | (©) 1:8
D) 1:12 D) 1:12
54. The number of Adharaniya vegas | 54. smydqmaR HaRUfw I 6 e
according to Ayurveda? foraf 2 7
(A) 6 @A) 6
(B) 10 (B) 10
© 13 (C) 13
D) 11 (D) 11
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5S.

56.

57.

58.

‘Swasthavritta’ deals with -
(A) Physical and Mental Health
(B) Social and Spiritual Health

(C) Physical, Mental, Social and

Spiritual Health
(D) Physical and Spiritual Health

Which of the following is included in
‘Trayopstambha’?

(A) Dincharya
(B) Nidra

(C) Rasayana
(D) Aushadhi

Which of the following has been |

included in  ‘Shatpadarthas’
according to Ayurveda?

(A) Rasa.
(B) Guna
(C) Virya
(D) Vipaka

Anutva and Ekatva are the qualities

of which of the following?
(A) Kala (Time)

(B) Atma (Soul)

(C) Disha (Direction)
(D) Mana (Mind)

5.

56.

57.

58.

3 H 00& %_‘
(A) TR i afes wared
(B) wrwer oivt sneatfars e

(C) viitfer, wfims, amfors ot
ey TRy ’

(D) wifer 3k sTTeaTiiE TaTeed

frmafafas & @ feawr dauls

‘Faraw’ ® fRar saT @ ?
(A) et
(B) T

(C) wmEw
(D) oitufd

ATggER weugrat ¥ Fraffan §
¥ foraent sfawla frar ST 2 2

(A) ™
(B) T
(C) o
(D) foarw

AU T U 9 & o e ui
W g ?

(A) e

(B) st

©) fwm

D) w=
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59.

Which of the following is not

included in ‘Shatrasas’ by Ayurveda?

(A) Madhura
(B) Katu
(C) Ushna
(D) Lavana

59.

A g ? |
(A) AgL
(B) =g
(C) 3wt

(D) @

60. The branch of Ayurveda which deals | 60. feufufwrrer @ dufom smygdy =1 s
with treatment of poisoning is called . T HEATT T 7
as —
A) @A
(A) Rasayana @A)
(B) Agadatantra (B) {
(C) Vajikarana (C) afraro
(D) Shalakyatantra (D) reTeRTas
61. How many ‘Gyanedriyas’ are therein | ¢1. TSIy ¥ fhat et B 2 ?
Human body?
(A) 5
(A) S
® 6 ®) 0
©) 10 © 10
(D) 11 (D) 11
62. The part of body which can lead to | 62. ¥R =& R/ wrT W swET g & gy
Death after trauma, is called as - AR TMET A Y, ST EHE R 7
(A) Sira A) fr
(B) Dhamani (B) sraft
(C) Marma (C) o
(D) Srotas (D) a9
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63

‘:7‘" ; o . -~:“" . :
What is the main objective of

64.

65.

National Family Welfare Programme?

(A)

To decrease the increasing Birth
rate

(B) To decrease the Death rate
©)

(D)

To increase the Birth rate

None of the abdve

Which of‘the’following is terminal
method of contraception?

(A) Intra uterine contraceptive

device
(B)
©
(D)

Post conception Method
Male vasectomy

Oral contraceptive pills

Second dose of T.T. should be given
to a Pregnant woman how much time
before the Expected Date of Delivery
(EDD)? ’

(A) 2 months before
(B) 1 month before
(C) 3 months before
(D) None of the above

‘Prakshepa’ is-synonym of which

63.

64.

65.

3IgETT FM Y ?

(A) mﬁmaﬁmm
(B) TE ! ®HH HET

(C) et Wl TG

(D) ¥ & &g T

Fraforfa o 3 e miRRET w5
orrn afteer @ 7

(A) o=a: THITE oA

(B) Ay uyang TR
(©) 9oy TEe

(D) mifeas wiferat

nferdt wfgen | T.T. &1 gaa et
Y ? ’

(A) 2w g

(B) 1w qd

(C) 3w qd

(D) ¥4 @ &g T

‘“gta’ R FITIEHEUT T U § ?

66. 66.

Kashaya Kalpana?

' (A) &=
(A) -Swarasa
(B) Kalka (B) e
(C) Kwatha (©) =
(D) Phanta (D) wrUe
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- 70.

67. What is the shelf life period of | 67. ‘gof’ & wefidar arafy fraft 2xeht & 2
‘Churna’? o . .
(A) 19am=
(A) 1 year
(B) 2 months (B) 2wt
(C) 4 months ©) 4wfe
(D) 6 months (D) 6nfER
68. Dipana, Pachana and Swedanaarethe | 68. uw, urer ik @a g w1 v Sdgmr
actions of which type of Virya? s e ?
(A) Guru (A) To
(B) Laghu (B) =g
(C) Ushna (C) 3Isur
(D) Shita (D) via
69. Which type of Vipaka increases the | 9, =& Rrare grr argiy & gfeg g
Vatadosha? ‘ 297
(A) Madhura (A) W
(B) Amla (B) 3t
(C) Katu (C) =g
(D) All the above (D) IwreE wft
The routine for maintenance of health | 70. qard § Tt W& Ig+ =Y CCLER
to be followed from Sunset upto e ot o 5 oo R 38w
awakening in Morning is called as - wza % ?
(A) Dinacharya (A) Frerat
(B) Ratricharya (B) uferat
(C) Madhyanha charya (C) weargaat
(D) Ritucharya (D) et
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71.

72.

73.

:Survey, Education, Treatment (SET)

method is used in which of the
following National programme?

(A) National T.B. Control
Programme

(B) National Malaria Control
Programme

(&) National Leprosy Control
Programme

(D) National AIDS- Control
Programme

‘DOTS’ means -

(A) Direct Observation Treatment
Schedule '

(B) Direct Observations for

Tuberculosis Sputum

(C) Directly Observed Treatment,
Short course

(D) None of the above

What is the objective of ‘Midday
Meal Programme’?

(A) To raise the nutritional status of
Primary School Children

(B) To improve attendance &
enrollment:in schools

< To preven€ drop out from school
(D) All the abdve’

fn

71.

72.

73.

Frafafes & @ sv@ T wEdsa

simta Survey, Education, Treatment

(SET) @ wrdughy ot 3 ?

(A) S s freEn wwEE

(B) ﬂgﬂwuﬁﬁmﬁmmm
© v@wgsﬁmmq

(D) W Tgw ﬁaawaﬂﬁam

DOTS' &t st wFaT 2 ?

(A) Direct Observation Trcatment
Schedule

(B) Direct Observations for
Tuberculosis Sputum

(C) Directly Observed Treatment,
Short course

(D) None of the above

"HEATE WIS QST o Igevd 1§ ?

(A) Wty W‘w% aedl @t
TYor TH B

(B) mﬁmaﬁww&
(C) =g *ft aeen @ 7 B
D) e Wt
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74.

75.

76.

77.

Transmission of Chikungunea
happens by -

(A) Anapheles mosquito
(B) Aedes aegypti mosquito
(C) Culex fatigans mosquito

(D) None of the above

How many are the Adhisthanas of

Sthwara and Jangama vishas

respectively?
(A) 10,16
(B) 16,10
(©) 10,12
(D) 8,12

What should be the first treatment
regimen for Snakebite? ’

(A) Chedana

(B) Arishtabandhana
(C) Aachushana

(D) Daha

Which is the general Rasayana for
Eardiseases?

74.

75.

76.

77.

2 '

(A) sFRefre wos

(B) ufsw fst wese

(C) wgeam Wi Aesv

D) T A @

T afte S R % arfreT A
PR g 2 ? |

(A) 10,16

B) 16,10

© 10,12

D) 8,12

|USY g W TarfRcar w1 vew Susmw

AT g =Ry ?
A) ¥
(B) stfeEam
(C) SAregmur
(D) =’

0

Eﬁlﬁ?ﬁﬁ’mmm%?

A
(A) Drinking of Milk (A) &R
(B) Drinking of Ol (B) dwa™
(C) Drinking of Ghee (C) ygau
(D) Drinking of Honeywater (D) wygHU
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78. Linganasha is the type of which | 78. e ag fea anfad Ty 2 7
- .disease? ‘ ’
(A) sRORRT
(A) Diseases of Ear
(B) Diseases of Nose (B) |
(C) Diseases of Eye ©
(D) Diseases of Tooth D) W
79. How many are the types of | 79, gwl'{ aftyag & feaq ag & ?
Pratishyaya according to Sushruta?
(A) 2
(A) 2
B
®) 3 B) 3
©) 4 © 4
D) 5 D) 5
80. Which regimen is useful in the | 80. wviwmvg ¥ Fufdrear & forg wimeh fafy
treatment of Karnakandu? 9w T 7
(A) Vatanashaka upakrama (A) aTaATITR IUHA
(B) Kaphanashaka upakrama (B) SHOATIIE IUHY
(C) Pittanashaka upakrama (C) ToreTyre susER
(D) None of the above tD) T @ g
81. Spraying of DDT Solutionis donefor | 81, =« & 9w & fidzor & fore DDT &
control of which disease? Het &1 fssma Frar wmar 7 ’
- (A) AIDS (A) @
(B) Tuberculosis (B) sran
(C) Leprosy ©) B
D) Malaria D) WAk
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82.

83.

84.

ASHA-Female Worker is appointed
under which National Programme?

(A) National AIDS Control -

Programme

(B) National Tuberculosis Control
Programme

(C) National Rural Health Mission

(D) National Nutrition Programme

If any person is burning in fire then
what should be done?

(A) Blanket should be covered on
him to put off the fire

(B) Tell him to run in open Air
(C) A and B above

(D) None of the above

First aid treatment of Haemorrhage-
(A) Take the patient to the Doctor
(B) Give Blood transfusion

(Cj Apply Pressure bandage on the
bleeding point

(D) None of the above

82.

83.

84.

ASHA wifgen wrdwat it Frgfe e
TP FEHA & ofaria HY A g P

(A) T wgE s wrdswa

(B)Av@wmﬁﬁawm

(C) Uga umior @ s

(D) rrg'lwuhmmﬁam

fe g safee T | W W, A
HET wfEy ?

(A) o g & U IEw wEe
. ST TR

(B) 3@ @eit gar # Wi & forw g
wfge

(C) Iwww A 3R B
(D) ¥4 A W13 &

THETE Uk w1 TTfires IUER -

(A) T W SfER F U W AT

=Tige
(B) ®¥UT Rt T*h W@ ATRY

(C) TwraTlEt W uT gama sTeet
gge AT TRy

(D) Iuder § | A
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85 How many Bandhavishesha are

86.

87.

88.

according to Acharya Sushruta?

(A) 18
(B) 15
(C) 14
(D) 12

Which of the following Kriyakalpa is
useful in the treatment of Netraroga?

(A) Tarpaha

(B) Putpaka

(C) Aschotana
(D) All the above

‘Twakshosha’ is the symptom of —
(A) Rasakshaya

(B) Raktakshaya

(C)r Swedakshaya

(D) Medakshaya

Which of the following'symptom is
found in vatavriddhi?

(A) Atinidrata’

(B) Avasada
(C) Balahani
(D) Gadhavarchastva

85.

mgga%awﬁmﬁaiu%ﬁw
27

(A) 18

(B) 15

© 14

86.

87.

88.

(D) 12

Faam | PrafofRae 9§ /@ wt-wn
Framer sugw @ 2 :
(A) aduor

(B) geur®

(C) ams=nad

(D) s aft

‘T’ ag T a3 ?
(A) g™

B) TwEE

(C) wAswa

(D) wEd

amagty # FrafaRas # @ wtar @eon
T SR 7 |

(A) arfafagan

(B) ermag

(C) wergix

(D) TEasEa
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89.

90.

Due to which Dosha, Nidra is
produced?

(A) Vata & Raja
(B) Pitta & Raja
(C) Kapha & Tama
(D) Rakta & Pitta

‘Vakpravritti’ is the function of which
type of vatadosha?

(A) Prana
(B) Udana
(C) Samana

(D) Vyana

89. Tgn fohw W & hrur Seaw g T 7
{A) EIGRCRE]
(B) i wa ™
(C) = udaq
(D) T wE fuw

90. ‘a'regg'qﬁr’zrg & AR % A

THER @ ?
(A) wor
(B) 3em
C©) wum™

(D) =

91. How many are the Arthas (Vishayas) 91. uw fawx (aref) femt 3 9
of Manas?
v (A) 2
(A) 2
®) s B) 5
© 3 ) 3
(D) 4 D) 4
92. Which of the following is not a | 92, ——— I IFTHT T TIH A& T |
synonym of Atma? _
A
(A) Kshetragyna (4) &
(B) Chetas (B) =
(C) Vibhu (C) fay
(D) Shashwat D) wvaa
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93.

9%94.

95.

96.

‘Avashtambha’ is the function of
which of the following ?

(A) Mutra

(B) Sweda

(C) Purisha

(D) None of the above

‘Garbhotpadana’ is the main function
of which dhatu ?

(A) Rasadhatu

(B) Raktadhatu
(C) Majjadhatu
(D) Shukradhatu

What is the cause of Rickets?
(A) Vitamin A deficiency
(B) Vitamin K deficiency
(C) Vitamin D deficiency
(D) Vitamin B deficiency

‘Shabdasahishnuta’ is
characteristic symptom of ?

. the

(A) Raktakshaya
(B) Mansakshaya
(C)  Rasakshaya
(D) Ojakshaya

93.

9.

- 95.

96.

‘sraEw’ ug H fewwT 3 7
(A) T

(B) wq

(C) gfw

(D) 3 & 7&

meiteare’ wrg fom g e e @ 7
(A) wasTg
(B) Twutg
(C) wemarg
(D) yhuTg

“freheq aTidr w1 T T § 7
(A) Rrefm T w v
(B) R % w s
(C) frefm &t =1 e
(D) frefim &t =t o

Preaffaa # @ ‘vregratyvg’ fwe

AT 37 o

' (A) Thad

®) wa
(C) wwyw
(D) strsera
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97.

98.

99.

Knowledge of which sutra is essential

for Swastha and Aatur?

(A) Hetu

(B) Linga

(C) Aushadha
(D) All the above

Anatomical shape of the nose is —
(A) Circular

(B) Oval

(C) Pyramid

(D) Square

Emergency contraceptive pills can be

97.

98.

99.

R @ AR & T b g & W
W srTavAehaT et F ?

(A) @

(B) fm

(C) sitwy

(D) Sudwe aHt

vmﬁmmﬁwﬁﬁmﬁwmm

TR FAT 8 ?
(A) TATRR
(B) e IR
(C) TR
(D) EIRATHRR

‘rgefer fomeRd’ o wyeTe Tatawen

used to prevent pregnancy following F ufay ¥ STATARTA Sadt S
an unprotected sexual intercourse MR w1 STa feaY v % Aw
within hours?
YHTAIITSAT gar § 7

(A) 24 hours A) 24

(B) 36 hours B) 36%

(C) 48 hours ©) a8

(D) 72 hours D) 7T2%

100. Which of the following disease can | 100. f=ferRaa ¥ & sw—ar sarfer =1 gfasa
not be prevented by Vaccination? wrefteRtuT % grT T foRa S weRar @ 7
(A) Whooping cough (A) w @it ’

(B) Tetanus (B) agata
(C) Polio (C) qiferan
(D) Marasmus (D) STeEny
13/MVPN-1 -4- Set-B



Section - C e - |
Homoeopathy grardeft
~ (Q.No. 51 to 100) (s %. 51 % 100)

51. For injury to head from blow or fall; | 51. ¥ (head) & =ite % forg Fr & & &t
the indicated drug is sitafer saanft 2
(A) Natrum mur. (A) Fgu JX (Natrum Mur)

(B). Natrum sulph. (B) 2w =ew (Natrum Sulph)
(C) Natrum phos. (C) Fzm wi@ (Natrum Phos)
(D) Natrum carb. (D) #gw = (Natrum Carb)

52. The commonest indication of “Kali | 52. ‘‘&weft wf@ (Kali phos)”’ &1 wq@
Phos” is e 3
(A) Nasal block (A) AATH W = FAT
(B) Swollen feet (B) uta 1 Hert
(C) Want of nerve power - (C) & ht wEsH
(D) Nose bleed (D) Th | GA AT

53. "Yellow Jasmine" is the common | 53. f"&ﬁ*ﬁ'ﬂfﬁ'—l (Yellow Jasmine)’’ fet
name of # ¥ Rewe amra W §

(A) Dulcamara (A) Tewmm (Dulcamara)
(B) Rhus tox (B) & gf@| (Rhus tox)

(C) Gelsemium (C) wafafme (Gelsemium)
(D) Kali chlor (D) wiet wAR (Kali Chlor)

54. The abbreviations "B.D." -in | 54. giftradfemes wnidtd ‘B.D." dfem wv
homoeopathic pharmacy is used to ¥ f o @ foras fore wges @en 2
indicate | (A) 30 @ @

(A) Let him take

(B) Twice daily (B) o <t m & for

(C) A capsule (C) =& Foget & g

(D) Food (D) TmT & ferg
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SS.

56.

57.

58.

Tinctures in homoeopathy are
prepared with ‘

(A) Juice and water
(B) Juice and élcohol
(C) Alcohol and water
(D) Only Juice

Ointments in homoeopathy are
prepared from

. (A) White soft paraffin

(B) Glycerine
(C) Oil
(D) Water

Dispensing alcohol in homoeopathy
indicates to

(A) 63 op
(B) 65 op
(C) 60op
(D) 50o0p

Which of the following indicates to
fifty millesimal potency.

(A) Arsenic 3X
(B) Arsenic 3C
(C) Arsenic Q

(D) Arsenic O/3

5. gfrdent & tr 7ea (Tinctures) ST

56.

57.

38.

2

(A) 3tk (Juice) TR Ut @

(B) 3k (Juice) 3R 3oz |
(C) 3rewmiger iR urt &

(D) aer a3tk (Juice) A

gttt § watn g aren wwEw

(Ointments) =t & @ forr & Twman

JATar ? '

(A) 9% T Hewiger ega wufew
(Paraffin) &

(B) fremd@m (Glycerine) &

(C) a=1 (0i) @

(D) U d

Aftrtieht F wET Y A srewES
TEa: g

(A) 63 @, .,

(B) 65 3. .

(C) 60 3. .,

(D) 50 e, .

= #§ @ e wR 8 50 millesimal

potency ! Hehfaes feraT Srram 2
(A) amdfes 3X

(B) e 3C

(C) emdf Q

(D) st O/3

13/MVPN-1
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59.

60.

61.

62.

" The

popular "globules" of
homoeopathy is prepared from.

(A) Sugar

(B) Milk powder

(C) Maida
(D) Corn flour

The sweet white powder used to give
homoeopathic medicine is known as

(A) Milk powder

(B) White powder

(C) Dispensing powder
(D) Sugar of milk

The duration of pregnancy in human
female is

(A) 380 days
B) 280 days
(C) 200 days
(D) 180 days

The duration of minimum antenatal
visit shall be

(A) 16,24, 32, 36 weeks
(B) 10, 20, 30, 30 weeks
(C) 20,25, 34, 35 weeks
(D) 21, 30, 35, 40 weeks

59.

60.

61.

62.

FifrTafer ¥ v g arelt werfora Mot
(Globules) = # & forert =t 2

(A) =t

(B) ¥ U= @
(C) A ad

(D) werd & e |

e oitwfar § war @ aren
st Thg TeS WM 7 ?

(A) 3¥ AR
(B) ¥HE U
(C) oitafir urs=
(D) qU & TR IR

wigere ® wwiaeen & erafy @@
et 2 ?

(A) 380w

(B) 280

(C) 200w

(D) 180w

THTEEAT & SR THE gd gAad S
HEH H AT FT R ?

(A) 16, 24, 32, 36 wHtg
(B) 10, 20, 30, 30 warg
(C) 20,25, 34, 35 uarg
(D) 21, 30, 35, 40 wurg

13/MVPN-1
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63. Recommended

64.

65.

66.

- dietary
supplementation of Iron. during

pregnancy 1s

(A) 50 mg Iron & 10 mg Folic acid
(B) 20 mgIron & 5 mg Folic acid
(C) 100 mg Iron & 0.5 mg Folic acid

(D) 200 mg Iron & 1 gm Folic acid

The desired weight gain in a pregnant
lady

(A) Sto15kg
(B) 8tolokg
(C) 8to15kg
(D) 9to11kg

The commonest complaint during
pregnancy is

'(A) Nausea

(B) Pruritus
(C) Painin Extrimitics
(D) Sneezing

Fetal heart beat rhove than 180 per
minute in a pregnant lady indicates

(A) Well baby

(B) Fetal distress
(C) Dead foetus
(D) Ruptured uterus

63. THiEtAT & A wigensit @i ferast

64.

65.

66.

e o arfaftes o me # o @

aelrg & Tt

(A) 50 foar. A @R 10 fran.

 wife uite

(B) 20 frur. sme= s 5 o
wiferr ufire

.(C) 100 fir.am. amaRa 3tk 0.5 f.

Wit THE

(D) 200 fa.am. serm sik L. uﬁf%ﬁs
tftrs

TMATEEAT & GRH fhaaT a1 &1 =g
aited 2

(A). 5% 15 fam.

(B) 8% 16 fw.am.

(C) 8= 15fw.am.

D) 9@ 11 fem.

THTGEAT & SR g areil gad JTaT=
i T g ?

(A) Wael =T
(B) goreft 1 g
(C) ¥ uia 4 7d

(D) Wt =,

T et Bt & Yo B ged Wl
180 ufer Torre gvm =ran wohat swtar @ 2
(A) w@E =T o

(B) Torgy v =t

(C) wa s= |

(D) wIvte™ Rl We WTET

- 13/MVPN-1
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67. Which is an energy rich food 67. T o @ 19 | @ qrwRit gea ey

(A) Vegetables It el
B) Milk (A) s
. B) ¥
(C) Oils ©
(D) Pulses D) are

68. The commonest source of vitamin - B 68. ﬁaﬁq B &1 T |id 1 @ ?

- (A) Milk | (A) T
B) chetables (B) wssft
(C) Oils | (C) @&

(D) Pulses (D) T

69. Deficiency of vitamin - A in children | 69. fefm AR FHAa=midwT AR ?

causes

(A) Loss of hair
(B) Loss of weight
(C) Night Blindness (C) wieh
(D) Cdugh (D) @it

(A) aret @ g
(B) &9 T A AT

70. For domestic pasteurization of milk 70. W ¥ gy @t grveriga (Pasteurized)

(A) Milk is to be heated at 63 - 65°C HH & fere
fOI: atleast 305ninutoes and then (A) gu N 63-65°C UT 30-&1—;{3 I
quickly cooled to 5°C R 5°C W g1 w
(B) 11\/.][.1(1)12(;5;0 bilheatteii ﬁt 100 t(Oi (B) gu Eﬁbf 100-110°C @ &8 a- w
O A e 1 ¥t TaTer & ag R R 63°C
then slowly cooled to 63°C ) .
X BT HA &
(C) A&B o
© (C) AIRB
D) None of the above , o .
® & (D) ¥ & =
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71.

72.

73.

74.

The commonest disease that occurs
due to eating of sewage contaminated
prawn '

(A) Headache
(B) Typhoid
(C) Deafness

(D) Loss of vision

A 3 yrs child must take minimum
(A) 1lit. milk / day

(B) 800 ml. milk / day -

(C) 500 ml. milk / day

(D) 300 ml. milk / day

Among the following which is the
best source of protein

" (A) Milk

(B) Meat

(C) Egg
(D) Fish

A pregnant lady requires
(A) 2500 k. cals/day
(B) 1700 k. cals/ day
(C) 1500 k. cals/day

(D) 1000 k. cals / day

71.

72.

73.

74.

T e S e & T A
gfvm it (Prawn) & et 2

(A) =ed

(B) frardt g@w (Typhoid)

(C) agu |

(D) g w1 wTT

T i AT & F=° il Afed feaet
T ® gy o =iy

(A) 1f&.

(B) 800 fu. f&.

(C) 500 . f&.

(D) 300 fu. fa.

= ¥ @ @l WER % 9 d et |
?

(A) 3o

(B) wiw
(C) swwet
(D) woe

R A G R o W G
L
(A) 2500 f%. ¥Ferlt | whafew

(B) 1700 f5. et / whifaw

(C) 1500 f6. et / wfafem
(D) 1000 Fe. et / wfafem
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75.

The adulteration in mustard oil is

" "(A) Chicory

76.

717.

78. |

79.

(B) Argemone oil
(C) Green dye
(D) Lead chromate

The dose of vitamin - A is given to
school children contains

(A) 2 lakh Internatlonal unit
(B) 5 lakh International unit
(C) 1 lakh International unit
(D) 3 lakh International unit

The maximum age for admitting a
child to Anganwadi. center is

(A) 6 yrs.
B) 7yrs
(C) 8yrs
(D) 10 yrs

Chicken pox infection is transmitted
by |

(A) Man to Chicken

(B) Chicken to Man

(C) Man to Man

(D) Chicken to Chicken

Measles is highly infections at the
(A) Rash period-

(B) Prodromal period

(C) Fever subsitling phase

(D) None of th&above

75S.

76.

717.

78.

79.

wﬁﬂﬁﬁwﬁmazﬁmm% ?

(A) fa (Chicory)

(B) sufstaA (Argemone) ﬁ*ﬁ

C€) T
(D) T wEe (Lead chromatc)

Tpelt sreat @ R 9w aren frehie
THEQUEAGAaTT
(A) 2vma g 3T

(B) 5@ Srigia sehts

(C) 1vmE g 3T

(D) 3 vmE FA=RILT 515

ATHETE! | gias & fore ue s=at 6t
arfﬁman‘gw%?

(A) ©: a4

(B) @ a4

(C) ame ad

D) = =d

(A) et & it &
B) Wi dwger
(C) wg= & wysy &
(D) ¥t & wiff &

TE (Measles) ST TsRaUT HE@ AT
g ? | -

(A) ¥ (Rash) srafr #

(B) wRfRrek (Prodromal) 3tafar #
(C) v AR F T

D) T A feeht F A

13/ MVPN-1
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80.

81.

82.

83.

84.

Which is a social disease
(A) Tuberculosis

(B) Headache

(C) Muscle pain

(D) Nausea

The peak incidence of enteric fever
(Typhoid) is reported in the month of

(A) January to February
(B) March to April

(C) May to June

(D) July to September

"Malaria week" is observed from
(A) 1% to 7" May

(B) 1%to 7" July

(C) 8" to 15™ February

(D) 1% to 7™ February

The legal age of marriage for girls is
(A) 15 yrs.
B) 20 yrs
(C) 18 yrs.
(D). 25 yrs.

The objective of health education is
to

(A)

to win friends and influence
people

(B) to tell about disease
(C) to diagnose the disease
(D) to take medicine

80.

81.

82.

83.

84.

= A wi s gl S R ?
(A) &@ W (Tuberculosis)

(B) W a&

(C) wieavit o g8

(D) waeit (Nausca)

T gaw & Wt o 3 9 e wde
4 gl STE U ST g

(A) Tl @ wEd
(B) W= & I
(C) WA

(D) gws‘ﬁﬁmm

“‘meitEr gur’’ v S @
(A) 187w as
(B) 1® 7 qeTd ash

(O 8% 15 waht a=

(D) 19 7 =l deh

wefehat & Wit < fere Aftres sy
27

(A) 15=d

(B) 20 ad

(C) 18=d

(D) 25

e e s weg R g ?

(A) et oiv s W @ R
AT

(B) _ﬁmﬂ%aﬁﬁmm

(C) & wgeaw wET |

(D) afwfer @
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85.

86.

87.

88.

Human heart is having

(A) ~ Six nos. bf chambers

(B)’ 'Five nos. of chambers
(C) Four nos. of chambers

(D) Three nos. of chambers

Epiglottis is situated in the
(A) Throat

(B) Abdomen

(C) Axilla

(D) Chest

Windpipe that carries air to & from
lungs is called as.

(A) lungs
(B) Trachea
(C) Cavity

(D) Fossa

Tohgue is made up of
(A) Cartilage

(B) Bone

(C) Muscle

(D) Ligament

85.

86.

87.

88.

e ¥ g AR R -
(A) ©: =%
(B) wia &y
(C) =m =
(D) W wa

qwreed srafeua g
(A) w3 &

(B) ITH

(C) wer ()
(D) owt #

mﬁﬁnﬁgﬁmﬁ‘aﬁ-
vt 3, fFa T @ St St 2

(A) st

(B) varauy

(.C) WA T

(D) wrET @@\

<fiw forea =+ e
(A) v |
B) wfer

(C) wigusft

(D) ferEy (fermi=)
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89.

90.

91.

92.

Which is the largest gland in the body
(A) Salivary Gland

(B) Thyroid Gland

(C) Inguinal Gland

(D) Liver

The last part of Gastric tract is known
as. ‘

(A) Canal
(B) Anal capal
(C) Rectum
(D) Appendix

Urinary bladder can contain
maximum

(A) 1000 ml. of urine
(B) 1200 ml. of urine
(C) 1500 ml. of urine
(D) 2000 ml. of urine

The no. of ovary found in female
(A) Two

(B) Four

(C) Six

(D) Eight

89. ﬁgwas i e < TR
(A) wRufE
(B) emsusE wl=r
©) gt uf
(D) =Fa (=)

90. UTerw W % sifd R B waEd 2
(A) afera |
(B) et et
(C) wemra

(D) e

91. Wﬁaﬁmﬁmmgawg}'

asar g

(A) 1000 fa.=f.
(B) 1200 fur.=ft.
(C) 1500 fur.=f.
(D) 2000 for.<ft.

92. wft 3 v # st Y e et 2
A «
(B) =W
©) w:
(D) a3
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93.

9%94.

95,

96.

Which is the drug indicated for
"Great fear & anxiety of mind".

(A) Aconitum napellus
(B) Acetic Acid
(C) Abrotanum

(D) Actea Recemosa

The commonest indication of "Antim
tart" is

(A) Loss of hair
(B) Cough

(C) Poor vision

(D) Hungry

"Mentally Restless" is the indication
of '

(A) Pulsatilla

'(B) Sepia

(C) Arsenic Alb.
(D) Bryonia Alb.

"Intense thirst” is the sole indication
of

(A) Bryonia Alba
(B) Bromium
(C) Nux vomica

(D) Lycopodium

93.

94.

95.

96.

e aftafit ® ““oremma W o K
(Great fear and anxiety of mind)’’ feea
sitefer & wreror 3

(A) Ueifaen Trfyeer@ (Aconitum

napellus)

(B) uwafew uferg (Acetic Acid)
(C) uwatizaw (Abrotanum)
(D) uferear Wt (Actea Recemosa)

‘“gfm = (Antim tart)’ W1 WgE
e 3

(A) TRt @Y T
(B) wiet

C) = gfe
D) @&

“grafysm 99 (Mentally Restless)’’
e 3 ¥ foerds o

(A) wsaféen (Pulsatilla)

(B) afdar (Sepia)

(C) wdfte st (Arsenic Alb.)
(D) smafaan e (Bryonia Alb.)

““ sreaferes wr@ (Intense thirst)”” f=
# & frmret v e 3 |

(A) wrefian ¥ear (Bryonia Alba)
(B) stfran (Bromium)

(C) == At (Nux Vomica)
D) ArgEitgan (Lycopodium)
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97.

98.

99.

100.

"China" is the common name of the
drug R ‘

(A) Cinchona -
(B) Cina

© Cicﬁta

(D) Coca

In Gelsemium there is

(A) Croupy affections

(B) Flatulent Colic

(C) Complaints occurring in hot
weather

(D) Lack of muscular co -
ordination

For "Fontanelles & Sutures remain
open too long" which is the drug

(A) Medorrhinum
(B) Lac can

(C) Ipecac

(D) Calcarea Phos

In Magnesia phos there is

(A) Crampy pain in abdomen
(B) Urine pale

(C) Palpitation |

(D) Dandruff

97.

98.

99.

100.

frm d @ fa sitwfar @1 ame am
‘et (China)””

(A) &g (Cinchona)
®) R (Cina)

(C) Fager (Cicuta)
(D) @@t (Coca)

Sefafiaw (Gelsemium) &t a&nﬁ 2
(A) &9 = g

(B) ﬁaaamaazﬁaé

(C) tsn s6g # B At wuwn |

(D) wiwafer # arer-der A wH

fm # @ ““wiered (Fontanelles)3itt
geod (Sutures)sT Sga ol WWE G
g A Torw eftwfir st eretor @

(A) WeRrg™ (Medorrhinum)
(B) &= &+ (Lac can)

(C) sfyemtgarar (Ipecac)
(D) ekt wig (Calcarca phos)

¥Afrar wia (Magnesia phos) # grar &
(A) g % e e

(B) drem Gy

(C) ugsT & ﬁﬁ KL

(D) wH® & (Dandruff) w1 g
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. 51.

S2.

53.

54.

5S.

- AT

Section - C
- Unani
(Q.No. 51 to 100)

Excess of retentive power (Quwate
Maska) leads to

(A) Abnormal elimination
(B) Abnormal retention
(C) Abnormal movements

D) Abnogmal appetite

Widering of channels leads to
(A) Normal retention

(B) Normal digestion

(C) Normal elimination

(D) Abnormal elimination

The OPV dose given after bifth in

institutional deliveries is called
(A) First dose

(B) Zero dose

(C) Birth dose

(D) Hospital dose

(A) Bivalent
(B) Trivalent
(C) Combined
(D) Adjuvent

The third dose of DPT is given in
(A) 4 weeks '
(B) Fourteen weeks

. (C) Six weeks

(D) Ten weeks

31.

S2.

33.

54.

35.

s -
AT
(%. ®. 51 | 100)

Faa wrieent wat I F Far g
(A) TR q«¢ FHAETI
B) R wwd Ygaaa
(C) i~ 7ad g
(D) W aag &

T & FTETE B A g § !
(A) w8 Ygaara

(B) w=g gvm

(C) w=§ sWawTT

(D) R q&Z FHAHT

TEAE N Y DY A S oW W
OPV t gureh &Y Tt 30 g ¢ |
(A) wgelt g

(B) Y guren

(©) Wargeft g

(D) dfres guw

DPT &t wfterdt o & @t § |
(A) 4TRA
(B) wed gu A
(C) T3TW A
(D) @& gw A
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56.

57.

58.

59.

60.

LNG-20 is an example of

(A) Condom

(B) Diaphragm

(C) Medicated intra uterine device
(D) Cream

Mala-Dis............

(A) an enzyme tablet

(B) combined oral contraceptive pill
(C) anxiety reducing tablet

(D) menstrual flow stopping tablet

Which type of epithelial tissue is
found in glands

(A) Flat

(B) Columnar
(C) Cuboidal
(D) Keratinized

Goblet cell is a modifiéd form of

(A) Cuboidal cell

(B) Columnar cell
(C) Mast cell -
(D) Fat cell

Which one help in Blood Clotting
(A) WBC ‘
(B) RB.C

- (C) Plasma

(D) Platelets

50.

57.

38.

59.

60.

LNG - 20 sgmewr ®

(A) HgH &

(B) SIEwOA T |

(C) ufeehfes gwett geusa fRamsw &
(D) 3 @

et - DR

(A) TAHTEA A & et

(B) wWATHS IR FrrAqdd Melt
(C) wif<res AT &w A arelt et
(D) wifereh T ® Pebt ATt et

ToE # fee feam @ e aod T
AT |

(A) =we

(B) wwmaeh
(C) gwh

(D) wRfeTgTs

MaAe gerar fraeht agelt g3 ywe ¢ |

(A) Tt Ger
(B) QA IWaaran

(C) wre gear
(D) geam vigH

Ga 7R # 7EE WA §
(A) PR s
(B) Fitard g
(C) ussHT

(D) uAfeeiew
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61. Where the fibrinogen is synthesized"

62.

63.

64.

(A) In pancrease

(B) In stomach

(C) In urinary bladder
D) In liver

Which of the following is congenital-

anaemia
(A)
B)

Because of iron deficiency

Because of Vit-B-12 deficiency

- (C) Because of sickle cell

Because of deficiency of folic
acid

D)

Which of the folloWing is not a
granulocyte

(A) Neutrophil
(B) Lymphocyte
(C) Basophil
(D) Esinophil

The person with which disease is
immune to Malaria '

(A) Megaloblastic anaemia
(B) Sickle cell anaemia
(C) Encephalitis

(D) Blood cancer

61.

62.

63.

64.

WSS gl TG ATt 3 |
(A) FHwHE A

(B) W@

(C) wam A

(D) R &

fret A & e dareet wowa
(A) e 6 wH A T Fre

(B) & B- 12 & @t & 3 e
(C) ﬁr&wﬁﬁﬁ@%m

(D) wifer uftre 6t &t & @ aTen

frer A & Wt qrER g T 2
(A) “ggtee

) Rrwrarse

(C) =w=ifewa

(D) sEREe

fora T & ORR o weRe
FEAErE T T

(A) Wientaenies whtar

(B) Tafrer @ whtfiran

(C) = fomm

(D) T w1 TEH

13/MVPN-1 -59-

Set-B




65.

66.

67.

68.

69.

In which condition Vit-K absorption
becomes disturb \

(A) Watery diarrhoea
(B) Fleshy diarrhoea
(C) Steatorrhea

(D) Bilious diarrhoea

Daily secretion of the saliva is
(A) 2000 ml

(B) 1500 ml

(C) 1500 centi litre

(D) 1500 Wi

Distal one third of the esophagus is
lined by

(A) Fibrous tissue layer
(B) Fatty tissue layer
© Nervous tissue layer

(D) Columnar epithelium layer

Eyes get their nerve supply from
(A) cranial nerves

(B) cervical nerves

(C) thoracic nerves

(D) lumber nerves

What does medial means

(A) Near median plane

- (B) Towards head

(C) Away from median plane
(D) Towards feet

-65.

66.

67.

68.

69.

g - K T s99ene (| gre o
TRIE FaT 3

(A) wTg gHETe

(B) wrgHl gHgTer

(C) wgHt swgTe

(D) wwEr T

FATAGET BT VAT ST Fehaar gre
2

(A) 2000 fireht efrex

(B) 1500 faeft wfiex

(C) 1500 &= #ex

(D) 1500 nsaﬁ wex

T % et whives T = w wt
? o

(A) TER <frefY K a7

(B) st vrgHt <t ag

(C) TS srmaTet Y ag

(D) SYRTC IFASTHAT <kt ag

ArEt hr et gt e staa &
R e 3
(A) femmit
(B) 39T
(C) weh
(D) gt

3T A T Y g Y !
(A) HEw @a & wiw
B) e

(C) = @@ ¥ |

D) e hwE
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70.

71.

72.

73.

(A)

Autonomic nervous system consists
of oo division

(B) Two

(C) Four
(D) Five

Thumbs are ............ in anatomical
position

(A) Anteriorly
(B) Posteriorly
(C) Laterally
(D) Medially

There are how many cervical spinal
nerves

(A) Six
(B) Four
(C) Eight
(D) Ten

What is meant by Raz
(A) Ponding

(B) Crushing

(C) Cutting

(D) Making powder

70.

71.

72.

73.

gEEAR (oevTd) Framt s

fare Tt o) gyrafier far 2 !
(A) &= -

(B) &
(C) =W
(D) U=

A e & e fFu E W g R !
(A) HFHg
(B) wWar@v
(C) st

(D) g

IRt TRaTE rraTe Y averg foRaet R !
(A) B |

(B) =R

'(C) TS

D) &

T R T GG Fedt g !
(A) e
(B) Ferer
(C) re

(D) =TT =TT
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74.

75.

76.

77.

In which form the drug should be for
the process of distillation

(A) Semi 11qu1‘d
(B) Solid

(C) Vapour

(D) Liquid

Upon which of the following process
of Irgha (froth removal) is practiced

(A) Behroza
(B) Lakh (Luk)
(C) Honey
(D) Methi

For what process of Tabkheer is
practiced

(A) To dissolve the drugs
(B) To dry the drugs

(C) To prepare the extract
(D) To melt the drugs

How the wax is cleaned
(A) by sieving (filtration)

(B) first it is melted and then pour
into hot water

(C) first it is melted and then pour
‘into cold water

(D) washed with cold water

74.

75.

76.

717.

ST AR % o gan FR vt @
UGS

(A) T g

(B) wRg

(€ g

D) w=T=

= & @ e ot et T R e
3 .

(A) =g
(B) wma

(C) wEg
(D) eft

Mm%ﬁ@wwﬁﬁ?
(A) ZaTail ! U 3

(B) el  gaTd 3

(C) IaW s 3

(D) eratat @ foeemar s 3

TH W Wh A & o wn e g |
(A) B 2

B) Torgen s Fru o Ut A grer 2
(C) furerem R a2 Ut & Srem 2
(D) 32 9t & gor 2
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78. Dil:of mastagi is prepared in 78. T wEart @ R s 2
(A) Mustard oil (A) W@ & AR
(B) Olive oil (B) Sq@ & ae A
(©) Sunflower oil (C) FEoTqEht & At &
(D) Clove oil (D) i daa A
79. From the following oil of which is | 79. fi=r & e &t ae ot gt & e
obtained by soaking that first into ¥ a1z Frerem 2
water )
(A) Wheat (A) ﬁg\
(B) Egg () st
(C) Mastagi (C) wefi
(D) Baladur (D) =@TgR
80. The opium is purified (detoxify) with | 80, w = frad /@ geer fwan stran
(A) Arq Podina - ? | |
(B) Arq Sonf (A) ok ‘ﬂ?ﬂm -
(C) Arq Gulab (B) ﬁ i
(D) Arq Shahtra E]C))) e ger
81. For purification honey is subjected | 81, vrge =t amF @ & forg s@H ...
10 .ciiriieennn HTAT %
(A) Dissolution (A) wrer
(B) Crushing (B) wrE
(D) Freezing (D) wTET
82. The salts are obtained by .............. 82. AWFHAT frw e & WA giider fond
' (A) Tablure W 3
(B) Iqla (A) TR
(C) Ahraq ?é; vl
(D) Taklees (D) m
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83.

84.

8S.

86.

(A

©

The objectives ‘of the knowledge of
Tib
(A)

maintenance

Restoration of health in case of
diseases

(B)

©)
D)

Prevention from diseases only
Both A and B

The subject of the Tib is
Human
(B) Human’s Body

Human’s Body and its health

and disease
(D) States of health and disease

The material causes for human’s body
are

(A) Arkan, Akhlat, Aza

(B) Arkan, Akhlat, Arwah

(C) Arkan, Akhlat, Aza and Arwah
(D) Akhlat, Mizaj, Aza, Arwah

“Asbabe sitta Zaroorya (six essential

factors) are related to

(A) External causés

(B) Active (faila) causes
©) Morphologi(ﬁél causeé

(D) Internal causes

4
M

Prevention of the health and its |

83.

Tl fae o T a e R
(A) wga H fywrorm "

(B) ot &t e F A = e
©) fuds vt @ waEn

(D) A= Bt

84, fom =t oy &

85.

86.

(A) sTE=

(B) Trem g

(C) Tra® zaam™ g Sl Azd 9 uof
(D) ¥rer UgH 9 Ot

T AT F o qieEn §
(A)
(B)
©)
D)

ITHE, FETd, AT
IEHH, AT, IR
JTH, FEAT, AT F IRETE

FEA™, oS, ST, swaER

JraaTy fowT woEr w1 guey @
(A) srEste sTEaT &
(B) @ wrEen A
(C) ereta gET A
(D) srta qitaen A
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87

88.

89.

90.

Tabiyat (Physic) is related with -

(A) Movements
(B) Repose
(C) Both movements and Repose

(D) Eating

First of all concept of Anasire Arba
was proposed

(A) Plato

(B) Galen
(C) Aristotle
(D) Pythagorus

Mixing and arrangement of Arkan
form

(A) Human
(B) Animals |
©) Plants

D) Animals, Plants and Minerals

Ashabe Khaleet accepted the number '

of Anasir as

(A) Five

(B) Four

(C) One hundred Twenty six‘
) Sovmany

87.

88.

89.

90.

AT HT QU gieT 2

(A) T @

- (B) W

(C) Tea a4 WA A1 |
(D) IWUH A

m&ﬁmwmm@qﬁ%
q fean

(A) SroReTT

(B) el

©) smEqy

(D) wguwRE

IRFHH F AE | e g athiE @
T2 :

(A) FE™
(B) F@mm@
(C) w<mama

(D) %ama,mr&émm

IR Telta R B et @
e o |

(A) wi=

B) =W

(C) uwd B

(D) sga @

13/MVPN-1 -65-

Set-B




91.

92.

93.

94.

- 95.

Mizaj (Temperament) results from

| (A) Arkan

(B) Akhlat
(C) Food
(D) Powers

From Aitadal (Moderation) point of
view Mizaj are

(A) Seven
(B) Nine
(C) Two
(D) Four

Real equatable (Motadil) Mizaj ........
(A) Exists

(B) Can exist

(C) Does not exist in spabe

(D) Exists in Galaxy

The most har (hot) organ is
(A) Brain

(B) Liver

(C) Heart

(D) Tongue

Hair are

(A) Hotest of all

(B) Coldest of all

(C) The most moist of all
(D) Diriest of all

91.

92.

93.

9%94.

95.

forems TaT R !
(A) &HH A/

- (B) @™ |

© @A
(D) Faat &

T & g A Ty & dwan =
g7

(A) "=

(B) =

©) &

(D) =Ew®

(A) G STar @

(B) dwET ST WeRdT 2

(C) i ® 7@ ar SArar
(D) ehgehsit | UraT AT 3

wER STE ER I 3
(A) Twm
(B) R
(C) ®mew
(D) sE=

e g §

(A) w=a
(B) wad &
(C) a&E& ™
(D) w=d gyeh
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96.

- (©)

97.

98.

99.

100.

The growing age is
(A)
(B)

upto 15 years
upto 25 years
upto 35 years
(D) from 15 to 25 years

There are how many types of Mizaje
Motadil Tibbi

(A) Ten
(B) Twelve
(C) Eight
(D) Four

Which of the following water is
Laxative (abdominal)?

(A) Salty

(B) Ammonium chloride
(©) Iron

(D) Cold

Which quality is produced in the body

by excessive movements
(A) Coldness and moistness

(B) Dryness

(C) Hotness and moistness

- (D) Hotness and coldness

Sleép is similar to
(A) Body movements
(B) Psychic movements

- (C) Body repose

(D) Elimination

96.

97.

98.

99.

100.

o g g 2

(A) 159 @

(B) 25Tt a=%

(©) 35 a7
(D) 15 % 25 @ret w6

foromst wiafrer forseft 1 R 3 |
(A) 7w
(B) Wwg
© oms
(D) =R

e & @ ®ar oeft geor - e
v R !

(A) Thm

(B) et

(C) e

(D) sw=r

T B FATGA A gEgT F wiw
HAA AT el B

(A) &%eA T wqEa

(B) agga

(C) wwa = waw

(D) T = w%ga

- OeF
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INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

9T & IR S qvareeft fAdr

4.

(Pleasc use Black ball-point Pen)

Method of Marking Answers :

To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

Yaluation Procedure :

There are four alternative answers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

Cancellation or Change in Answer :

It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the
answer sheet are filled up properly i.e.
Name, Roll No., Signatures,
Question Booklet No. etc.

(i) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

Care in Handling the Answer Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles.

1.

(Fuar Black ball-point 9 ST J=I1T 1)

3T S AT I

IW ¢ & ol of.um.em. 3w gfes 4
o I9e % a8 i ™ s m omet 7 9
hered Teh T =h T kel i |
et TG :

T T o T TATRI I &, I 8 T W
T R | Y W 6E IR AR Y R o

YTH BT | AT T W ST el e foRd ST B

a ag wr S TR wlarelf w gvT w5 wd
IR TE IR B 3R IR R 7k T o SR |

I Rt TR ST AT SEe

I sEeH A1 et w6 % ol e S 9 |

W TR T = AT o sgeT g9 TE gi |

3 I HT AT W o Td Tl T I A

ERERICPIEICECTY

() ehers = SeRalie dien & veat ghfad
o f I Ffie F 1 g8t w af
gffat |-, U TR, FEIE,
weA-gfe w1 TR, anfg faffa
WH | dH-3F N W™ F |

) whem sgue gdemeff ® yeA-gi
FHW WY o oW A I #

»m%mamm:

Iefie &1 JET s e gf aE @
gEyT w1 38 B, g AT HelEe
T EE TR S |
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